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A
In ©OX, mAC = 120. 5
11. m;ﬂ!} =_? D 5
12. If AC = CD, then mCD = _
XF__ ' XE. Z
13. If CD > AC, then T
14. If DC = 24 and XF = 5, the radius of ©X = _? |
K
RS is tangent to the circle at V. L 1
15. If m/ K = 105, then m/ PNL = _? "
16. If mPN = 100, then mZ PLN = _?_ and S
m. PNR = _* oy . / i
17. If mZ K = 110, then mPNL = _?_ and
mPL = _? . B
BD 78
18. If mAC = 40 and mBD = 60, then m£1 = 7. )
19. If mAC = 44 and mZ 1 = 55, then mBD = _? . A
C
20. If mEG = 100 and mDF = 40, then "
mi EPG =_"_. - e
21. If PH is a tangent, mnGH = 90 and mZ GPH = 25,
then mFH = _?_
Chords, secants, and a tangent are shown. Find x.
24. - 7-7
22. ﬁ
N

Chapter Test

Tell whether the statement is true or false.

1. It is possible to place points 4, B, and C on a circle so that
mAB + mBC > mAC.
2. If two circles are congruent, their diameters are congruent.

i i f
3. If a chord in one circle is congruent to a chord in another circle, the arcs o
these chords must have congruent central angles.

4. Opposite angles of an inscribed quadrilateral must be congruent.
330/ Chapter 7

] k. AD and DB are tangent to the circle.

|

5. If a diameter is

perpendicular to a chord, the diameter must bisect the
chord.

6. Ifa line bisects a chord, that line must p

N0 common tangents can be drawn.

9. An angle inscribed in a semicircle must be a right angle.

10. When one chord is farther from the ce

nter of a circle than another chord,
the chord farther from the center is t

he longer of the two chords.

C

1L In ©0. if mAB = 100°, then mAC = _»

12. 1f the radius of @0 is 17 and AB = 30, then OF — L

13. If AB = BC and mBC = 80, then m / ABC — .
4. It msD = 110, then m/LBC4A = 7

15. If mAC = 50 and mBD — 38, then m/ AEC = 2 L

Y B
16. If AE = 10, EB = 9, and CE — 15, then £D = _2

PTis a tangent to the circle,

17. If mRS = 120 and mS7T — 160, then m/ p = 7
18. If PT = 12 and PS = 18, then PR — L&

19. Given: ©0: TT(;[E@-
Prove: ]@_L OK
T

20. Given: AD is tangent to O P,
Prove: ABAD ~ A4cD

1
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